14.3 HW Pg. 509-512 1-13

1. In Lesson 14.1 you compared the quality of two brands of paper [ a) P(W k— MA bV'M\LS)
clips. For that type of test, suppose 20% of Brand A clips and 45%

of Brand B are defective. Also suppose 100 Brand A clips and 150 = P(A\ ¢ P(bYep\\tS\ A’) \
Brand B clips are mixed together and a randomly selected clip is _ .40
tested. - .!ﬁ . 14 '/
a. What is the probability that the selected clip is Brand A and it 256 !
breaks? . L . =2 on.08 or ¢/
b. What is the probability that the selected clip is Brand B and it
breakst? N . b) P (and B and brmlls)
<. What is the total probability that the selected paper clip \ 5)
breaks? a?(s) O 4 ‘W\(s

21503 45 ¢
250 1902
(1]
= 2% .27 or23%
j00

) P e preak) + P(B and breske)
> 3'(- T l’f‘l-
= 3¢9 r.%3%

For Exercises 2 and 3, determine whether the two events are

independent or dependent and then find the probability. 2) De?ﬁf\d€“+ \ é ‘5 % |

2. A coin purse contains 3 dimes, 2 pennies, and 4 quarters. What \ ) = .  —
is the probability of selecting a penny, then a dime, and then a P (P +hen D Q’) ” { q.
quarter, if the coins are not replaced? [0\dl\ =9 wlo VC?\‘WM’C 3 % \

3. What is the probability of rolling a number cube, labeled 1-6, four . _l_
times and rolling a 3 each time?

3) ‘Lnﬂ\cfuso\mb

P(3 ad 3 and 3 and 3) =

e

= .L.)
4. A box contains 50 tiles with shapes drawn on them. In addition - ( b
to other shapes, there are 2 squares, 5 circles, and 3 triangles in
the box. ﬁq
a. Find the probability of drawing two circles if you replace the
first before drawing the second. o) ( 0 nd 0') - S S o) ?( 0 and b) = 2', .32
b. Find the probability of drawing two circles without replacing Y ) P o ga' : ‘5'6 wl v c‘?\ﬁ-‘—f— 50 50
the first circle. wl r(,?\nu,- 3
c. Find the probability of drawing a square followed by a triangle =1 .\ = .L T =
with replacement. \° 2 s0
d. Find the probability of drawing a square followed by a triangle A
without replacement. lDo ‘+ O
we o) -5 &y e@es) L2,
wlo repw B P wlo veplase: 1 .3

5. A number cube, labeled 1-6, is rolled 4 times, and it lands on 6

A .
each time. What is the probability that the next roll will be a 67 g) e ’W\\ S\ an i Y\d nd,CV\* C\[CV\.\— QD '\'h{J

Explain. P(Dbo\,bi \i DQ‘T‘O‘,\J Qa {ﬂ does hO‘\
Ae\)@hd (i’a} UPVQ_\[\MS envents .
6. Inadeck of 20 cards, bered 1-20, what is th bability of - i+ C\]&V\'a)
SRR ) (3 o oven Y = P18 £
—— + E-o
=/l
290

7. Two spinners are spun at the same time.

@ SV\V\S ave \nde,?e_r\dw‘\: o%u_ob\ or\hen, So ... R 2)
P(_Q?m N ?(QFW\ 21t 1€ spin wasl) + P(QPW\ 2)- P(s‘nn\ 5 was
T N

\ +
— (] Z
Z'4 4
What is the probability that the sum of the numbers on the _L L
spinners will be 37 2 + P
2
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‘What is the probability that the sum of the numbers on the 1
spinners will be 37 Q

L
¢
z
8. A quality control inspector checks flat-panel televisions for defects. @
The table below shows the probabilities of different numbers of

defects _ - 8a) P(«2) =Ploorlor 2)
umberafbefects ) o | 1 | 2| 3 | 45 | 6 | 7 [ & )9ormoe = .|| t+.03+.0F=,2\
Probability 011 | 003 | 0ozl 018 | 023 [ 016 | 0.09 | 0.06 | 004 |) 003

g

* a. What is the probability that a television has fewer than three
defects?‘ (5] A K '

- vy Forg
b. What is the probability that a television has at least five and no gb) P( 25 anA S 8) - P (‘6\ or ko ?— )
more than eight defects? = 1N + Dq +,0b +. D""

9. The probabilities of a randomly selected blood sample in the New

@ P (Type A ov Type 8) =,
=(50

10
10, A student takes a ten-question, multiple-choice test. Each question - (Y%
has five answer choices. 1o a) P (.a“ W M] ’5" or

a sample is either type A or type B?

a. If the student guesses each answer, what is the probability that
the student will get all of the questions wrong?
b. What is the probability that the student will get all of the

goting | wriny
questions correct? 0
0 b)  Plal ighd) = (L) o 2 ooooooioz) Woehlll
0y

\
11. A dart is thrown at the target shown below. 3‘ mns covrech
a) Aeaof 2 red A's = 2 2_:_*)
&
2

:gm

Avea of 1 = 1ot =40 em?
2am 6cm 2cm Cd A 2:*_‘ —l—.
P(\f ) =

S
a. If the dart hits the target at a random location, what is the
probability that it will land in ne) A = 5.4 A =b-u
b. What is the probability that it will land'in a green or a purple qreen A -z mrlp[c D 7z
region?
= loem? =12em?
Plgveen or Purple) = 10 4 12
Yo 40
= 2%
40
= U

12. The fuel pumps used by Boeing were thought to have a 3% chance P ( w\ \ =.03
of having faulty wiring. Consider an airplane with two such

pumps. P((\,.FM\M\’\—.D%:-Q:"

a. What is the probability that both pumps are faulty?

b. What is the probability that neither pump is faulty? lza.') P(F‘M.lh.’. and ‘FML\’\‘,) = .03 % .03=. 0002 R
c. What is the probability that exactly one of the pumps is faulty? = . =, ‘{'D

) F(1fawiy and 2"~fuu.lh1\ s P(L~ faulny and 2 fouly)
.03% .93 + .91 * .02

= ,024| +.024l
= ,095%82

@ P (1 pump faunlty) = —[ e or P(~F)]

=\~ (0009 +.4+10%)

"

= ,05%2
. A company that makes refrigerator ice-making units has a 4% 5 —
defect rate. What is the probability that an inspector might \3} P (Y\D de Q{"S) = ( qb) or X, g l )
examine a sample of five randomly selected units and find no °
Anlnntafo; tha mrmaalld
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. A company that makes refrigerator ice-making units has a 4%

defect rate. What is the probability that an inspector might
examine a sample of five randomly selected units and find no
defects in the sample?
9
1,

—

Qo = no\r o\ep
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\5} P (no delggdcs) = (,Q‘o)b— or 2,919



